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"������ 	����# �������� ������
��� ������� ����$ ����
��������$ ����

������ ����!�$ ��������� �����
����$ �������
 �����
����

�� 	
��
�� ������ 	
�������� ���	����� �
	����� ��������
� ������� ����

b∫
a

y (t)K (t, r) dt = f (r) , a ≤ r ≤ b, �� 

�� ���� K (t, r) ∈ L2 !� ���	� ��"!#�� f (r) ∈ L2 $ 	
��

 %���&
'� � �	����� �
���������
 �����' �
�	# ��������� (�)� �������!�� "%��
����	���� *�	
!� ��+�

��
 �,������ ���	�' ��"!#�# f (r)� ���� K (t, r) �# 
�!��� ���	������� 
�+�!�
��#�	�"!# �� 	��#�#- ��-#,�� � ��,���	���
� ���	������

�� "����#�# 
#������ "!��
!!� ������� �������!�� "%��
����	��#- �����
		�+�	"� ����&
���#
 
 �#�� � ��,�
��&
�
# .�*� /#-���	� (�� 0) !� 1�1� 2�	���3
!�4	� (�) �������	"� ���
�� �����,�# �������#��5�#- �����#!

	� 6�,���	
 !��#-
�����#!

	 ��#"	����
 !���+ ���&
 ��	
	"��#- 
�!�
�!#�
	 (7� �)� 1�!� ����' ���&

$ ��������!# 	#����#� ���# ��,�#+��#8 ���	����� �����
 �� &
���
 ����	�����4
��!��,# ����!#�#�
�� ����� ������������� ��������� �������  �!������ 9��#��
� �� � 	#�3

���
 �����!������ �
	����� ������� ����

Ay = f, y, f ∈ L2.
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*�-�8 δ $ ��-#,�� ������� f � f∗ $ !���� ���	� ��"!#��� yβ $ ��,�#+��#8� � y $
!���#8 ���	����# �����!������ �
	������ :����!�� R (f, β)� ����+�#8 	
� ����
�!��
�������#��&
' β� ���#	�4!�"� ��./0���1/23�� ��� �������� �
	����� 	 ����
 f∗ (r)�
��;�<

� R (f, β) 	#������#8 ��� ��	
���#- f ∈ L2 !� β > 0=

0 
"��4 !��� %���&
� β = β (δ)� ;� ��� ∀ε > 0 ���8��!�"� �#"�� δ (ε) !����
;� � 	#����� ‖f (r) − f∗ (r)‖ ≤ δ (ε) 	#����	�!#
�!�"� ‖yβ (r) − y (r)‖ ≤ ε� ��
yβ (r) = R (f, β (δ))�

9���+�
"!� β (δ) ��	#��� ,�!# !���5� ;�, ��# δ → 0 !���+ β → 0� !�,!� ��,�#3
+��#8 ���	����� ��	#��� ����-��#!# � !���#8�

� 
�!��
 �������#��&
' �����	��� ������� /#-���	� 		��#!�"� �����+�5�#8
%���&
����

Mβ [yβ ] = ‖Ayβ − f‖2
L2

+ β ‖yβ‖2
L2

,



�


��&
� ����� 
 ��4 �����#8 �����!�� R (f, β) (0)�

>��	����� �����
 �� ,���4
� 	 ���"!��
 L2 
� ���
�5 ‖y(t)‖2 =
∫ b

a y2 (t) dt� 9	
��#
����+#
�

Mβ[yβ ] =

b∫
a

[ b∫
a

yβ (t)K (t, r) dt − f (r)
]2

dr + β

b∫
a

y2
β (t) dt. �0 

?���
� ����!# yβ (t) � 	#����
 ������������� ���� ����4 �� ��!��������#
#

%���&
�
# ϕn (t) =
√

t · L (t, γn)� !�,!� yβ (t) =
√

t
∞∑

n=1
anL (t, γn)� ��

L (t, γn) = N0 (γn)J0

( r

a
γn

)
− J0 (γn)N0

( r

a
γn

)
.

/�! J0 !� N0 $ %���&
' ?�""��� ������� !� ������� ����� � γn $ ����!�
 �����

�
	����� N0 (z)J0

(
b
az
)− J0 (z)N0

(
b
az
)

= 0�
9��#��
� ��,�#+��#8 ���	������ ;� 	
���	
��4 ����
�!�� β� �� ���
��


ỹ (t) = ỹβ (t) =
√

t
N∑

n=1

anL (r, γn). �� 

@��-�	�5�# �� � 	#��� �0 ����
� � 	#����


Mβ [yβ ] =

b∫
a

[
N∑

n=1

anKn (r) − f (r)

]2

dr + β

b∫
a

t

(
N∑

n=1

anL (t, γn)

)2

dt,

�� Kn (r) =
∫ b

a

√
tL (t, γn)K (t, r)dt.

A���5�# an, �� n = 1, N, � �
�	# 

�


��&
' %���&
����� Mβ [yβ ]� !�,!� ∂M
∂an

= 0
�	��
�&
8�� ������ � ����-�
#
# �
�&�
# � 
�!#
�
�

b∫
a

[
N∑

n=1
anKn (r) − f (r)

]
Kq (r) dr + β

b∫
a

t

(
N∑

n=1
anL (t, γn)

)
L (t, γq) dt = 0. �7 
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� ����!#��#- ��"!�"�	����- %���&
' Kn (r) !� f (r) ����!	��55!�"� 	 ���� ��#
r = a !� r = b 
 4 ��"��	�3�������	�#
# �� ���

+�� a ≤ r ≤ b� /�
� ��+�� � �#-

�+�� ����!# � 	#����
 "�
# ������������� ���� ����4 �� %���&
�
# ϕj (r)�

9�

�#
� ������
 ���# N 3��"!#��#
# "�
�
#

Kn (r) =
√

r

N∑
j=1

c
(n)
j L (r, γj), f (r) =

√
r

N∑
j=1

bjL (r, γj). �� 

@��-�	�5�# ��!��������
"!� "#"!�
# %���&
8
√

r · L (r, γj)� ���8��
�

c
(n)
q = 1

Mq

b∫
a

√
rKn (r) L (r, γq) dr,

bq = 1
Mq

b∫
a

√
rf (r) L (r, γq) dr,

Mq =
b∫

a

rL2 (r, γq) dr = b2

2
1

( b
a γq)2

[
R2
(

b
aγq

)− 4
π2

]
.

�B 

6
�"!�	#	�# �� !� �B � �7 � ����+#
�

b∫
a

[
N∑

n=1
an

√
r

(
N∑

j=1

c
(n)
j L (r, γj)

)
− f (r)

]
√

r

(
N∑

s=1
c
(q)
s L (t, γs)

)
dr+

+β
b∫
a

t

(
N∑

n=1
anL (t, γn)

)
L (t, γq) dt = 0.

6��
�!����	�	�# �� r �� ���

+�� [a, b]� 
�!#
�
�

N∑
n=1

an

[
N∑

s=1
c
(n)
s c

(q)
s Ms + β

(
Mn, n = q
0, n �= q

)]
=

=
N∑

n=1
c
(q)
j

b∫
a

√
rf (r) L (r, γj) dr, q = 1, N.

�C 

6���
�!� �������#��&
' β ����!#
�
� ��
��� � ��#�&#��
 �����������' ��	����#
(0) �� ���� %���&
' p (β) = ‖Ayβ − f‖2 − (δ + h ‖yβ‖)2� �� h $ !���
"!� ������� ���3
��!��� A� 9����� %���&
� �
"�� ��,��+���� yβ ����� ���%
&
4�!# an ��,��� !�����
	#�����<

p (β) = (1 − h)2 β2
N∑

n=1

anMn − δ2.

@��#�#�� N � �
���
"!� ����
	 ���
��
� �� � � �!+�� 
 �
���
"!� �
	���� � "#"!�


�C � 	#,#��4
� � !
4' �
�	#� ;�, 	
���"�� ��-#,�� 	#������� �
	��"!
 �� γ (N, β) ��
����	#;�	��� ������' γ0

γ (N, β) = max
r∈[a,b]

1
f∗ (r)


 b∫

a

yβ (t)K (t, r) dt − f∗ (r)


 · 100 < γ0.
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� ��������!�
� 	#����
� � 	��-�	����
 �� 

max
r∈[a,b]

1
f∗ (r)


 N∑

n=1

an

b∫
a

√
tL (t, γn)K (t, r) dt − f∗ (r)


 · 100 < γ0. �D 

"� ����� ����#������ ����$���� %�%��&� ����'��#��! �������� E�
���#
 �
�-���
 �� ��,���	# ��,�#+����� ���	����� �����
 �� 4 
�!�� ��!����	���
����+���� "#"!�
# ����,�#��#- �
	����� @#,#��5�# ỹ (t) � 	#����
 �� � �
	�����
�� �	���
� �� "�
		
��������

N∑
n=1

an

b∫
a

√
tL (t, γn)K (t, r) dt = f (r) , a ≤ r ≤ b.

@#
���5�# 	#������� &
4' �
�	# 	 N !����- ���

+�� a ≤ r ≤ b� ����+#
�
"#"!�
� N �
	���� 
� N ��	
��
#
# an

N∑
n=1

an

b∫
a

√
tL (t, γn)K (t, ri) dt = f (ri) , i = 1, N.

@��#�#�� N 	#,#��!#
�
� �� 
 	 ����������
� 	#������ � "�
�� 	#
���5�#� ;�,
	
���"�� ��-#,�� 	#������� �� �� ����	#;�	��� ������' �an ��# n = 1, N ��	#��

����	�����!# �D  �
(� )�%����� �������� �� �#"��	
 ��#����# ��������
� ���������	��
 
�!��#

��� ��,���	# ��,�#+��#- %���&
8 ������
�� ���!��!�#- �����+��� ��# 	��4
��
'
+��"!���� �
��&�	��� �!�
�� � !���"	��"����� 
��!����#
 ����
�

>#"� �� F-�
� ���!��!��' 	��4
��
' �!�
�� 
� ����


� (B) ������ ������ �	��#!�"� �� ���	������� �
	����� ��������
� ������� ����
�� � �� y (t) =

√
t · x (t) $ ������ %���&
�� x (t) $ %���&
�� ����� ��� ��#"�4!�"�

������
� ���!��!�#- �����+��� �
� �!�
��
� � !���+

K (t, r) =
√

t

∞∫
0

F (α)
{

J0 (rα) − J0 (aα)
J0 (rα) − J0 (bα)

}
J0 (tα) dα,

{
a ≤ r < c
c ≤ r ≤ b

}
,
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F (α) =

(
1 − e−4µ1hα

) (
1 − e−4µ3hα

)
ϕ∗ (2µ3, 2µ1, α)

,

ϕ∗ (2µ3, 2µ1, α) = 2µ3

(
1 − e−4µ3α

) (
1 + e−4µ1α

)− 2µ1

(
1 − e−4µ1α

) (
1 + e−4µ3α

)
,

f (r) = B(1) (r) =




(a − ra)2 − (r − ra)2 , a ≤ r ≤ ra;
(a − ra)2 , ra ≤ r < c;
0, c ≤ r ≤ b,

�,�

f (r) = B(2) (r) =




0, a ≤ r < c;
(b − rb)

2 , c ≤ r < rb;
(b − rb)

2 − (r − rb)
2
, rb ≤ r ≤ b.

>���
��5�# 
�!�� �������#��&
' �����	��� ������� /#-���	�� ��#8��
� �� �	�-

"#"!�
 	#����� �C ��� 	
�������� a
(1)
n !� a

(2)
n n = 1, N � �� c

(n)
q � bq !� Mq �,�#"3

�55!� �� "�
		
��������
# �B � 	 ��#- f (r) = B(1) (r) ��� 	
�������� a
(1)
n !�

f (r) = B(2) (r) ��� 	
�������� a
(2)
n � >��	����	�# &
 "#"!�
# 8 ����+#
� ��,�#3

+���� ������' %���&
' x (r)

x̃ (r) =
N∑

n=1

(
a(1)

n z1 + a(2)
n z2

)
L (r, γn),

����� ��� 	#��+�4!�"� %���&
� ���!��!�#- �����+��� σzz (r) = P
2πa2 x̃ (r)� 9���3


� γ0 = 4% 
 ����	
�#
� ��� N1 = 11 !� N2 = 21 	#������� �
�	# �D ��#
f∗ (r) = z1B

(1) (r) + z2B
(2) (r) , zi = 1

Ri
, i = 1, 2, �� Ri $ ���
�"# ��#	#��# ��3

��,��� �,��!����
 ��#- �!	����� �!�
��

� ������!�!
 ����	
��# ��� 	#����
	<

1) a = 0.4, b = 1.0, ra = rb = 0.7;
2) a = 0.4, b = 1.0, ra = 0.55, rb = 0.85 �� 

	
���	
���� ����+#
�

γ1 (11) = 7.2%, γ2 (11) = 10.2%;
γ1 (21) = 2.3%, γ2 (21) = 3.0%.

:!+�� 	#����� N = 21 ����	�����4 �
�	� �D � ��� ��,���	# ��,�#+��� %���&
8
������
�� ���!��!�#- �����+��� ��"!�!��� 	#,��!# N = 21� G��%
�# %���&
' x̃ (r)
� ��	����#- 	#�����- ��,��+��� �� �#"� 0� ��
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��


>#"� 0� G��%
�# %���&
' x̃ (r) ��� >#"� �� G��%
�# %���&
' x̃ (r) ���
	#����
	 � !� 0 ��# N = 11 	#����
	 � !� 0 ��# N = 21

6������
��4
� � ������� 	#�������� 	
���"��' ��-#,�# 	#������� �
	��"!
 �� 

�!��#�� ��!����	��� �	������ �
	����� ��������
� ������� ���� �� "#"!�
# ��3
��,�#��#- �
	�����

@#,��	�# N1 = 11 !� N2 = 21 ��� ��������!#- ������� ���
�!�#��#- ����
�!�
	
�� 	
���	
��� �!�#
�4
�

γ1 (11) = 8.6%, γ2 (11) = 11.9%;
γ1 (21) = 2.9%, γ2 (21) = 3.8%.

G��%
�# %���&
' x̃ (r) ��� &#- 	#����
	 �������� �� �#"� 7� ��

>#"� 7� G��%
�# %���&
' x̃ (r) ��� >#"� �� G��%
�# %���&
' x̃ (r) ���
	#����
	 � !� 0 ��# N = 11 	#����
	 � !� 0 ��# N = 21

:!+�� ���������	��#8 �
�-
� �� ��,���	# ��,�#+����� ���	����� �����
 �� ��#
N = 21 &
���
 ����	�����4 ����!#��
 ��!��,#�

9�����#
�� ;� 
�!��#�� ��!����	��� �	������ �� �� F2.> �� �������#��4 ����3
�� ��,���	# ��,�#+����� ���	����� �
	����� ��������
� ������� ����� 6��!� 	���
��4 �
��� ���	�"!# ��!#
����#8 	#,
� �
����"!
 ����
	 ���
��
�� � �!+�� 
 �
����"!

�
	���� F2.>� 9��	�+#
� �#��� ;� ��"!�"�	���� 
�!��� /#-���	� ��4 ,
��� ����3
�+��� ��,�#+���� ���	����� �� � �
+ � 	#����� ��!����	�' ��,���	# F2.>� ;� 

��,������4 
���� 	
���"�� ��-#,�� ��,�#+���� ���	����� &#
 
�!���
�
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:� ������� $�%� � ����
�������� ����������� ������
���?" ����!� @ 4(' AAA/� @ :B%<�
@ C� :><$ D:� @ A� =B�>;�

;� ������� $�%�� &�����	
�� $�'�� (������� '�'�� )*��� $�&� E��
���?� �����? �����
��� ����������?" ����!� @ 7�$ :BB&�

<� +��������� ,�,� � �������?" ����������?" ����!�" ��������!����� ������� @ '��
����	����$ :B%;�

=� (����
� ,�(�� ��	����
 ��'��  -.-/
�� 0�,� �������	����?� �������� � �������
��
�?� �
������? �����
����� ������� �������
����� ��������� ������
��� �������
���� FF G
������� ����
��������� @ :BB>� @ :H$ D:� @ A� :&�:%�

>� &���	����
 0�1��  �.�/�
� 0�,� '����
���� ��������� �������
����� �������� ����
���� ���� �� �
�	��I ���	
�����I FF 7��� ������ �� �������"� ��
�� @ ;&&>� @ =J$ D;� @
A� =<�>;�

%� &�.��	2� &�'� ����������!�� ��������� ����!� ��������
����� ��� ���� ��
�������
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